Vektorgeometrie (Produkte) Losungen+

Aufgabe 1
3 -1
4 1| 7 | =-3+28—-48=-23
-8 6
Aufgabe 2
3 2
O-19 | =64+0-18=-12
6 -3
Aufgabe 3
3 7
7] -7] =21-49+28 =0 (orthogonal)
7 4
Aufgabe 4
-3 4
0 ]-[6]=-1240+24=12
8 3
Aufgabe 5
1 —6
3112 ]|=-64+64+0=0 (orthogonal)
-9 0
Aufgabe 6
-1 1 240 2
8 1 0—2 —2
Aufgabe 7
—6 -9 18 — 18 0
6 | x[ 9 |=-18+18]=1{0] (kollinear)
2 3 —54 + 54 0
Aufgabe 8

Ubungsaufgaben



Aufgabe 9
1 2 —30 + 36 6

S I x| 4 )= -184+6|=]|-12

-9 —6 4—-10 —6

6 1 —6+6
6 X 1 =|—-6+6
—6 -1 6—6

I
oo o

Aufgabe 11

(-3 —4
ab=|(0]-12|=28
4 4
|@ =v9+0+16=5
6] = V16 + 4+ 16 = 6

28 14
cos(p) = — =

_ . _ 2 — 21.04°
5.6 15 14 0

Aufgabe 12

A 6
ib=|(3||3]|=17
—4) \-2

il =v0+9+16=5
b

|=v36+9+4=7
_ 1T
5.7 35

cos(yp) @ = 60.94°

Aufgabe 13
6 —4
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Aufgabe 14

(kollinear)



) 4
i-b=|2]-[4]=-16
2

|d@|| = VBT + 4 + 36 = 11
]| = VI6+ 16 +4 =6

-16 -8
=— =— = 104.03°
cos(yp) T6-33 =~ ¢ 04.03
Aufgabe 15
B 2 6 -9
axb=|-1| x|—-6]|=|-18
0 9 —6

A= || = BT+ 324 + 36 = 21

Aufgabe 16
7 4 —4
axb=| 8 x| 41 =1 2
-3 -2 —4

A= =vI6+4+16=6

Aufgabe 17
. 6 4 -9
axb=16 x| 3 |=1]2
-7 -5 —6

A=||d =8I +4+36=11

Aufgabe 18
. 0 3 4
axb=|2]x[-1] =112
4 0 —6

A=|d|l =16+ 144 +36 = 14



